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The wavefunction for an electron in a one-dimensional wire is shown. If we measure the 

position, the electron is most likely to be found:

A) Between 1 and 2

B) Between 2 and 5

C) Between 5 and 9

D) All are equally likely

E) The answer cannot be determined from the information given
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Probability is the integral of |ψ(x)|2 over the region, so is proportional

to |ψ(x)|2 times the length of the region. The probabilities for the three 

regions are therefore in a 9:12:4 ratio.

The wavefunction for an electron in a one-dimensional wire is shown. If we measure the 

position, the electron is most likely to be found:

A) Between 1 and 2

B) Between 2 and 5

C) Between 5 and 9

D) All are equally likely

E) The answer cannot be determined from the information given


